ML Meguro Language Center

JLPT N4 Kanji Quiz - 13/34 Answer
M1 HEBEIC fT<DOT ZoOR%E ELTFEW,

(1) b 1 BREHVA 2 LA 3 rWA [ONS21AVY
2) iR 1 5<9 2 &< 3 50K 59<

(3) ®LT 1 LT 2 MhLT 3 MALT LT
2 TE®mIEWw) HEFET 05 HwELE,

(1) #W 1 72CHD 2 FASD 3 =bbo 7= CTHD
(2) B 1 2L 2 MAL 3 MALA DL A
(3) HwELE 1 S22 WELZ 2 WWhELE 3 ebWELT BlEWELE
M3 LJAn HVETNL, 5LPAL SAZIILELE,

(1) LA 1 7 B 2 FABR 3 AR R

(2) Uhrh 1 #§fH 2 ff 3 BRE A ey il

(3) ~AEXD L 2 fhiR 3 Mg b 55
4 RS 22D TS JAZWILDIE OAST WINTT XL,

(1) 20T 1 0T 2 BvT 3 ®H0T (ke
(2) FTAZEwILD 1 WFsE 2 ZEMF= 3 Whh= AT ==
(3) UAL 1 Ji<T 2 Je<< 3 IA<T JF<T
15 LolAz 32070 £ DADBZXEIEIDN WNTT L,

(1) LxLA 1 THE 2 BH 3 JLE BE

2) 5o7 1 = 2 G 30T [ERch

(3) MANZI- 1 #Hzi 2 Fxl- 3 Bzl #FzI=



